_ PART#G19BBOI-TX HVM BULL BAR
-"@3 19-21 GMC 1500 INST-02463
2022 GMC 1500 LIMITED

DESERT BORN, ROAD READY.™

Components and Hardware: HWKT-13589X

N-FAB® TECHNICAL SUPPORT

PHONE: M-F 8am - 5pm EST 1-800-449-6649 | EMAIL: INFO@n-fab.com
Page 1 FOR WARRANTY INFORMATION VISIT: WWW.N-FAB.COM



_ PART#G19BB0I-TX HVM BULL BAR
_"]ﬁ} 19-21 GMC 1500 INST-02463
2022 GMC 1500 LIMITED

DESERT BORN, ROAD READY.™

Components and Hardware: Tools for Installation:

1. Passenger Side Up-right..........c..ceeeeeciecsee e (1) Socket wrench
2.Driver Side UP-Tight.......ccciemererinin s e sssasesens (1) 13mm socket
B T T ) 310 Lo o SRS (1)

T T (1) 18mm socket
B, TOWNOOK......cocreverecesseesesssssssssssssss s ssssssbass s sbasssssssss b s ssbessssasans (2) 16mm socket
6. Driver Vertical mounting plate........c.ccovcereiinrienenssesern e (1) 5.0 hex socket
7.PassengerVerticalmounting plate........cccoeoeveeeeerceevncesce e (1)

8. Driver side frame bracket........cccovvvvercrnnnenciese s seseseseenns (1) 4.0 hex socket
9. Passenger side frame bracket...........ccoceeeeucuiceeneceeeecce e, (1) 13mm wrench
10. M12-1.75x25mm flanged hex bolt...........oeieeeeiciiccissccenin (4) 18mm wrench
11. M8-1.25x20mm flanged heX Dolt.........cccvvvervnieniisensssesesese e sesesaenes (4)
12.M8-1.25x20mmbuttonheadbolt..........cooreeroe e (4)

13.M8-1.25 serratedflange hexnut.........cccoeeeeeeriercecescceee e (8)

L b Y T T T (4)

15.M6-1.0x35mm buttonhead bolt..........cccomreeree (2)

16. M6 X 1.0mm barrel Clip.....ovoeeceeeeieceeece et (2)

17. M12-1.25x40mm flanged heX Dolt..........ccvveevnieniininessssesssesessssesessenesannes (4)

18. M12-1.75 serrated heX NUL.........ccvceerceee et (12)

19. M12-1.75X55mm flanged hex bolt.........ccc.cuvomreeeereeeee e (6)
20.M12-1.75x105mmflanged heX bolt.........cccuveerninimnniesnnsen e sesessesesnens (2)

21.Locking panel plug........ccevrcerereiresieserereesese e e (2)

22. Adhesive backing pad.........cccoeocecercecere e (2)

23, Plug-1.75" tUDE PlUG..suceiriirercreresenrei e sssssssssssesss s se s sss s sassssrssssassenens (4)

24. Plug & Play SeNSOr Wire eXtENSION.......ceeeerreririereresererassesesesesseesessesessns (2)

25.License plate relocation bracket.........cccccceeeeeeeeveercciescreeceerers e (1)

26.M6-1x20mm button head bolt...........cccveveeerrercnrirsercrr e (6)

27.MB NAITOW WASQET......ccuceeeercireeesercreses e see e e e eas e e s s sas s e sae e sasaessenenes (6)

28.MB Flanged NUL........cccoureeeereceere e ee e ee e eas e eas e sns e e san e (6)

Page 2



_ PART#G19BB0I-TX HVM BULL BAR
_"ﬁ% 19-21 GMC 1500 INST-02463
2022 GMC 1500 LIMITED

DESERT BORN, ROAD READY.™

INSTALL

Step 1. Assemble (#2) driver side and (#1) passenger side upright to (#4) skid plate using (#11)x4 M8-1.25x20mm flanged
hex bolt, (#13)x4 M8-1.25 serrated flanged hex nut and loosely tighten. (Fig 1)

(#1)

(Fig 1) Skid plate install

Step 2. Assemble (#3) light hoop to (#2) and (#1) uprights using (#12)x4 M8x20mm button head bolt, (#14)x4 M8 washer
and (#13)x4 M8-1.25 serrated flanged hex nut. (Fig 2)

(#12)x2
(#14)x2
(#12)x2
(#14)x2

(#13)x2

(#13)x2

(Fig 2) Light hoop install

Page 3



_ PART#G19BB0I-TX HVM BULL BAR
_"]ﬁ} 19-21 GMC 1500 INST-02463
2022 GMC 1500 LIMITED

DESERT BORN, ROAD READY.™

INSTALL

Step 3. If your vehicle is equipped with parking sensors, you have the option to relocate them to the Bull Bar uprights.
First, remove sensors from bumper and then from the plastic retainer. Plastic retainer will not be reused.

Step 4. Install (#16)x2 M6x1.0mm barrel clips into (#1) passenger side and (#2) driver side up rights. (Fig 3)

Step 5. Install (#22)x2 rubber adhesive backing pads to back face of sensor. (Fig 3-A)

Step 6. Place sensors into round opening in back side of up-rights and secure using (#15)x2 M6x35mm button head bolt

to hold in place. (Fig 4)

(Fig 3) #16 barrel clip install (Fig 4) Sensor install with #15 retaining bolt
(Fig 3-A) #22 Adhistive backing pad install

A To ensure no damage to
sensor, DO NOT OVER TIGHTEN !

Step 7. If parking sensors were relocated in step 4-6, proceed to step 8, if not, skip to step 9.
Step 8. Route the (#24)x2 harness extension from the back side of bumper, through the driver and passenger side tow
hook openings and up through both uprights. Connect extension x2 to both sensors and to main harness. (Fig 5)

(OE WIRING HARNESS)

(#24 sensor wire extension)

(Fig 5) Sensor wire extension

Page 4



_ PART#G19BB0I-TX HVM BULL BAR
_"m} 19-21 GMC 1500 INST-02463
2022 GMC 1500 LIMITED

DESERT BORN, ROAD READY.™

INSTALL

Step 9. Place (#21)x2 sensor plug cap in factory bumper holes. If not relocating sensors, place into Bull Bar facia.
(Fig 6)

I O |

(Fig 6) Sensor cap plug install

Step 10. Remove factory tow hooks if equipped. Begin by removing M12x2 factory bolts from driver and passenger side
tow hooks; remove and discard.

Step 11. Attach (#5) tow hook, (#6) vertical mounting bracket, and (#8) driver side frame bracket with (#19)x6 M12x-
55mm flanged hex bolt and (#18)x3 flanged hex nut to make an assembly. Use (#5),(#7), and (#9) for passenger side
assembly. Tighten all hardware to (50-60 ft/Ibs) of torque. (Fig 7)

(Fig 7) Tow hook and mounting bracket assembly (Driver side assembly)

Page 5



_ PART#G19BB0I-TX HVM BULL BAR
_"]ﬁ} 19-21 GMC 1500 INST-02463
2022 GMC 1500 LIMITED

DESERT BORN, ROAD READY.™

INSTALL

Step 12. Slide driver and passenger bracket assemblies through the bumper and into the frame.
Step 13. Install hardware in reverse of removal, but do not fully tighten at this time. You may need to adjust slightly for
final install. (Fig 8)

Step 14. It is recommended to apply painters tape to tow hooks and also to bumper, where Bull Bar may come into con-
tact. This will eliminate any damage while aligning Bull Bar.

Step 15. Use the supplied (#10)x4 M12-1.75x25mm flanged hex bolt and (#18)x4 Flanged serrated hex nut and carefully
attach Bull Bar to vertical uprights so tow hooks protrude through the rectangular cut outs. Make adjustments needed
to frame mounts to ensure assembly is centered on vehicle. Tighten to (55-60 ft/Ibs). (Fig 9)

Note: If you have lights/light bar, it
is recommend to install before Bull
Bar is attached to vertical uprights.

o2 &

(#18)x2

(#10)x2

Page 6



_ PART#G19BB0I-TX HVM BULL BAR
_"ﬁ% 19-21 GMC 1500 INST-02463
2022 GMC 1500 LIMITED

DESERT BORN, ROAD READY.™

INSTALL

Step 16. Insert (#23)x4 tube plugs in the Bull Bar facia to cover hardware. (Fig 9)
Step 17. Use a drive way or parking lot to ensure sensors are working properly.

(#23)x4

(Fig 9) Hardware cap cover install

Step 18. Install the (#25) license plate relocation bracket using the supplied (#26)x2 M6-1x20mm button head bolt,
(#27)x2 M6 narrow washer, and (#28)x2 M6 flanged hex nut to one of three mounting locations on top of skid plate. Fully

tighten hardware. (Fig 11)

(Fig 1) License plate bracket install

Page 7



HVM BULL BAR

_ PART#G19BB0I-TX
_"ﬁ% 19-21 GMC 1500 INST-02463
2022 GMC 1500 LIMITED

DESERT BORN, ROAD READY.™

INSTALL

Step 19. Attach license plate to relocation bracket using the supplied (#26)x4 M6-1x20mm button head bolt, (#27)x4 M6

narrow washer, and (#28)x4 M6 flange hex nut and fully tighten. (Fig 12)
Step 20. To complete the install, use a driveway or parking lot to ensure sensors are working properly.

(Fig 12) License plate install

Page 8



